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Instructions.
For Exercises 1-4 use the facts that
d d

< [sinz] = cosx, - [cos ] = —sinx

ANSWERS appear on page 2.
1. L sin (22 + 3z — 7)] =

2. 4L lsin (cosz)] =

3. 4L cos (42*)] =

4. & [sin (£21)] =

For exercises 5-7 P (z) is a function that has the property that P’ (z) = 1
Compute:

5. L [P (32" + 72% +10)] =

o 4P ()] -

T L[P(P ()] =

In Problems 8-10 , E'(z) is a function that has the property that F' (z) = E ().
Compute:

8. L[E (42— 72%)] =

9. & [E[(a*+32)"]] =

dx

10. £ [B(E (x))] =



Answers

(a)

1.

2.

©

10.

[cos (27 + 3z —7)] - [2 + 3]
[cos (cosz)] - [~ sin z]

[ sin (42°)] - [12¢7)

[COS (gzié)} . {(2$)(2x?2?2+;)23 (x2+1)

12054 14r
327+ 72%+10

a7 (922+2)(42—7)—4(32°+2z) (92242) (42—7)—(122%+82)

3x3+2x (4z—7)* (B3 122)(do—7)

1
z-P(x)

[E <4x9 + 7;(;3)] . (36338 . 21332)

(E {(:p‘l + Sx)QD -2 (z* + 3z) (42 + 3)

E[E () - E ()



